1.

th2 1383 Zo] /B = 90° ¢l AABC o|A AD =
5cm , BD = 3em ¢ W, BC 9] Zo]&=?

24/23 323 334
4371 ’ ’
3 18

5




2.

ot 23} o] /B = 90° ¢l A7zt ABC o4 DE” + AC. =
3V3 Q W, AE” + DC” 9] ghe?

A

@ V21 @ 23 ® 5 @ 33 ® V29



3.

th2 3} Zo] AAMZEE ABCD &) UjFof gt
2\/§cm,ﬁ:3\/§cm o ‘Iﬂ,x2—y2 o] Zh2?

A P 7t Stk PC =

A —D
\ 3/2cm
\:E\ I//
/y,"P“Zﬁc\n\l
B C
@ 4 ® 6 @ 9

® 10



e IF3F Zro] AALZFE ABCD oA

BD & & 402 st Hodeh AF 9
Zol2 x 2 ¥ 1, BF o Zo|2 x 9
Tt Ao 2 e H?

©x+4 @ 2 ®s-x @6-x O



S I} 722 AABC A /C > 90° Q
o, oS 3 2 A2 25 I=2H(HH 2




193} o] Hxe] o]z} 10cm 7 AABC 9] 7} S A B0 e
WL Wolg A7 S, .8y, 53 AV L 51455 455 o e
57

® 10mcm? @ 15xcm? ® 20mcm?

@ 25mcm? ® 30rcm?



® 10cm?

@ 16 cm?

O 2 ot WS 9 Zojoh,

A

o R |
EELEERRER

=~

@ 12cm?

® 22cm?

@ 14cm?

C=4cm, AB = 8cm, /A = 90° ¢l ZZM7HY ABC

=

=



8. T3 193 2 AAY ABCD € A& AQ & H+= ALS= o1
=3 D 7FH BC 919] A P ofl =5 430t aABP 2 aPCQ 7}
R Z¥AY 71

2 Zratzk o] 7] _ﬂ@-mg] Zl012 F5}oda}.




9. 7Zt= Zol7} 8em , 22| Zol7t 4em Q1 ALY BYFe| ol
U= 193 Zo] i AC & e Aoz shof s o, x 9

2 Fatole




o Aol 22t a, 2a-1, 2a+1 9

il

Al

10.

i

a

@ 0<a<4 ® 2<a<8

D 2<a<4

® 4<a<8

@ 0<a<8



11. th& 23 nABCD oA CO ¢ ZAol& A
stojzt. (¢, ACLBD)

D 22 @ V11 ® Vi3
@ 19 ® 25




12.

02 1T 22 AABC oA AB &t AC 9] 542
5t BELCD, AB =18, BC =10 ¢ o}, AC ¢] Zdo]& 5}H

D 2vI1 @ 3Vil @ 4Vil @ 5Vi1 & 6+V11



Ss



>

BC 9] ¥ AB, AC 919 A D, E 7}
E+2 5 w=8 o, BC & Fstoat.



AFZHE O — ABCD 4] OA =

ol
=1

w7 2ol

15. o

sholat.

27

4, OB=6, OC =8 & oj, A& OD 2] Zo]




